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MATH-1951
Quiz 2 - (2.3 - 2.6)
Answer the following questions, and show your work. Scientific calculator only.

(1] (3 points total) Evaluate the limit, if it exists.

VE=6 . |in Q=% UrxkC)

lim
MM{+EP\7 'FA? -[ z—36 36 — x K——?}g(;G_K) C\}—z—(“'f"é)
num coatorand deaowiaaon B e o ors —eC
Ly the conjugate o kP3¢ Qo) (VRH 6D
J}’é which i ¢ I + & shs odS - lis 'C?}?ﬂﬂ _
¢ R Qc—x)(ﬁuw) ot [ @4)(&4@)
ik 2l o oh
w230 e+l V3¢ #<
[2] (3 points total) Find the limit. o e |
o -[-1x 6’;6 = f"L—
e 31 2;: = 4 . .
X ~>- o
'TL-{ hl‘j&‘ej'{ chva o-F ?‘IC':;S‘I
Wt the Othb”lr‘Aﬁ"FDf 5 o S Z—é
for e S
< , So V(f“’“d( FRE: Remeh =D~ po
4
E s
ol denomaator by =. ii o
e 1
= [im l‘/,L-fL. - =
prerth 1> 3



[3] (4 points total) For what value of the constant ¢ is the function continuous on (—oo, c0)?
Make sure to show that the function is continuous for this value c.
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